R EMEITH T HRMKEDDRERBRICOVNTEER245F3A LIED

X TBREET 1L FARTED () RICEREL-BZEETREEZ FTER/-2EFRLET,
X EERGHE AR YL (YUY L1134 LI13TOEET) 500Bg kg

&I 9% 2, 000Bg kg

BRER SEERTHETH 4 R4 |BHKEDSE| BE |tovsomieoomams] 220 LR |[avRingg
H23.4.19 |t ki |—owx  |msmme| BEET | REET L Ribey
H23.4.19  |)I1B4F IKEW |7 < A =% 3Th *ﬁ%"g? @%57; - @%57;
H23.4.19  |j1#s KW |75 mozmn| ROET | REET [ REET
H23.5.3  |IEH B e R R el B i
H23.6.8  |JIlS# B Wi Tith 50 49 99 @(%g—f
He3 7.7 |t 2% (JL—~y— | B 0 10 20 | BEET
H23.7.14 )54t FE [FrAY 2= ih *ﬁ?i_;‘%f *ﬁ?i,%}f - @gg i
H23.7.27  |ligHt BE 247 g | PO RERT) | R
H23 8.3  |JIAt 2% |Tx e | REUT ) RAET RGeS
H23.8.5  |JI1B4F KEW | FreER) =% 3Th *ﬁ%"gj— *ﬁ%g# - *ﬁ%gj—
H23.8.10  |JIligHt Bz [*2vy g | PADT | BAST | BAwT
H23.8.24  |JIsgA 2% [JrY e | REUT ) REET [ REET
H23.9.7  |JIiB#¢ K% |Joa B *%”;5?‘ K "ﬁ(ﬂzjf 7 - *ﬁ?'ééf’ 7
H23.9 7 ME=Es I=tepE|lar=vo (VD) | Efth *ﬁéﬂzjg)i'@* *ﬁgg? - *ﬁ(”jf—’f
H23.9. 14 |t B% [T e | REUT ) REET [ REET
H23.9.15  |JIEA B % &R e | REUT ) REET [ REET
H23.9.15  |JIEA B % &R e | REUT ) REET [ REET
H23.9.15  |JIligHt B R (ZH) e | REUT ) REET [ REET
H23.10.5  [JIli%t HE |OvhAqE = ith *%”;5?‘ K jfﬁ(%é g ~ @gg °
H23.10.5  |JIEA B % &R e | RET ) REET [ REET
H23.10.5  |JIligHt B R (ZH) e | RET ) REET [ REET
H23.10.5  |JIEA B % &R e | REUT ) REET [ REET
H23.10.19 |gH BR (vvese | @ | ROUT | REET [ REET
H23.11.2  |IligH u k= g | PO BRI R
H23.11.2 |5+t g (VN Bt *ﬁ(“ﬁgff *ﬁg&?f - *ﬁ?zjgf
H23.11.9  |I1igH 2% [ g | PADT | BAST | BAwT
H23.12.28  [JIligt MIG|FLAE it *%”;5?‘ K j'ﬁajf - @gg ’
Ho4. 215 |)IsBH Bx vk g | REET | REET | REET
H24.2.27 |)ie+t KEM |17 BN(ER) 86 126 212 #ﬁ%g?
H24.2.27 )54 IKER | <A I(EFR)| 125 174 299 Bty

(10)




®RER BRETHATA & R |RAKEME| WE |eooscss eoonor] D) LR |IR131ER

H24.2.27 |4t KEW [V A INCFR 60 77 137 #ﬁ%g?

H24.2.27 |J3B4t IKEW |47 F SR 18 27 45 *ﬁ'ﬁg?

H24.2.27 |)ie+t KEW [V A EARI( L7 105 152 257 #ﬁ%g?

H24.2.27  |J3B4t IKEEY | v A SEARICFHD) 34 43 77 *ﬁ'ﬁg?

w4312 iss s | BEET | RHEET . BRHET
|15+t IKEEWY [ <A BES (3.0) (2.8) (2.6)

H24.3.12 |1+ 5 | BAUUT | BbeT - i
5 KEW|ATF ®ES | 70 (2.0) (1.9)

H24.3.12  |JII3E4 KEY|=OTR #E5 1.9 3.2 5.1 m(&zgf

YRR —mmeT | Rmed | | Bied
J |i7a'*-j' 7}(&% :’F/I:jJ'J %Fﬁiﬁ (2.6) 3.1) (2.3)

o4 3. 12 . . B9 | BHET . BRHET
B4 KE® |17+ BV YR (3.2) 2.7) (2.3)

H24.3.12  |J1sg+t KEW =D 2948 *ﬁf'é%? 20 20 *ﬁ?ggf

e e \ REET | REET T
JI5 4 KEY [FoEHY $Y E (2.9) 2.1) 1.9

H24.3.13  |J1iS4t KiEm |4 SR | 23 33 56 *ﬁ?ggf

H24.3.26  |Jilis4t KEW |17+ EI| 12 21 33 *ﬁﬁgf

W24 326 |igk — s | BHEEY | BHET _ BREHEY
154 KEY =D BB (6.4) (6.3) (5.4)

H24.3.26 |14 = Ritey | Rldy - ey
1124t IKEY (=R U YE (5.7) (1.7) (5.9)




